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OR 

B. Inductive Logic (Western) 
Time: 2 Hours                                                           Full Marks: 40 

The figures in the margin indicate full marks. 
Candidates are required to give their answers in their own words as far as practicable. 

দি¢ণ ĴাĜƐ সংখ�াªিল Ĵেűর পূণƳমােনর িনেদƳশক। 

পরী¢াথƳীেদর যথাসŕব িনেজর ভাষায় উóর িদেত হেব। 
Group-A 

Socio Political Philosophy 
(সমাজ-রাż দশƳন) 

1. Answer any five of the following questions:                    2×5=10 
িনŏিলিখত Ʊয Ʊকােনা পাচঁিট Ĵেűর উóর দাও: 

a) Define Political Philosophy. 
রাż দশƳেনর সংÑা দাও। 

b) State any two differences between the primary group and secondary group. 
মুখ� ƱগাŽীও Ʊগৗণ ƱগাŽীর মেধ� Ʊযেকােনা দুিট পাথƳক� Ʊলখ 

c) What is meant by community? 
সőদায় বলেত কী Ʊবাঝায়? 

d) What is 'association'?  
'সংঘ’ বা ‘সিমিত' কােকবেল? 

e) What is meant by political ideas? 
রাজৈনিতক আদশƳ বলেত কী Ʊবাঝায়? 

f) What is the meaning of the word 'secularism'? 
'ধমƳ িনরেপ¢তা' কথািটর অথƳ িক? 

g) Is family an association or a community? 
পিরবার িক সংঘ অথবা সőদায়? 

h) Give the definition of 'democracy'. 
গণতেĞর সংÑা দাও। 

2. Answer any four of the following questions: 5×4=20 
িনŏিলিখত Ʊয Ʊকান চারিট Ĵেűর উóর দাও: 



a) Discuss the subject matter of political philosophy. 
রাżদশƳেনর আেলাচ� িবষয় সŐেকƳ আেলাচনা কেরা। 

b) 'Society is the wave of social relationship' (MacIver and Page) - Explain the nature of society in the 
light of this statement. 
'সমাজ হেÅ সামািজক সŐেকƳর জটাজাল'(ম�াকআইভার ও Ʊপজ) - এই িববৃিতর আেলােক সমােজর ƗŜপ ব�াখ�া কেরা। 

c) Distinguish between an association and an institution. 
সংঘ বা সিমিত ও ĴিতŽােনর মেধ� পাথƳক� কেরা। 

d) What are the bases of community according to MacIver? 
ম�াকআইভার এর মেত সőদােয়র িভিó ªিল িক িক? 

e) Explain the characteristics of Liberal Democracy.  
উদারৈনিতকগণতেĞরৈবিশŻ�ªিলআেলাচনাকর। 

f) How Swaraj can be attained through non- violence? Discuss after Gandhi. 
গাĥীজীর মেত, অিহংসার মাধ�েম িকভােব Ɨরাজ দািব করা সŕব আেলাচনা কেরা। 

3. Answer any one of the following questions:                  10×1=10 
িনŏিলিখত Ʊয Ʊকান একিট Ĵেűর উóর দাও। 

a) What is meant by 'social group'? Explain and illustrate different types of group with the help of 
examples.                                                                                           2+8 
'সামািজক ƱগাŽী' কােক বেল? দৃŻাĜসহ িবিভĨ Ĵকার ƱগাŽীর সিবশদ ব�াখ�া দাও। 

b) What are the characteristics of indirect or representative form of democracy? State and explain 
the merits and demerits of this form of democracy.                                                                     2+8 
পেরা¢ বা Ĵিতিনিধমূলক গণতেĞর ƲবিশŻ� িক? এই ধরেণর গণতেĞর ªণ-Ʊদাষ ªিল উেŬখ পূবƳক ব�াখ�া কেরা। 

c) Give an account for Gandhiji's concept of 'Sarvodaya'. 
গাĥীজীর 'সেবƳাদয়' Ĵত�য়িট ব�াখ�া ও িবচার কেরা। 

Group-B 
Inductive Logic (Western) 
[ আেরাহ যুি�িবÑান (পাŮাত�) ] 

1. Answer any five of the following questions:              (2x5=10)  
িনŏিলিখত Ʊয Ʊকােনা পাচঁিট Ĵেűর উóর দাও:  

a) State Mill’s formulation of the method of Agreement. 
িমেলর অīয়ী পĆিতর সূøিট িববৃত কর।  

b) What are the five criteria which are commonly used in judging the acceptability of a 
hypothesis? 
একিট Ĵকŧ ²হণেযাগ� হবার পাঁচিট মানদë কী কী?  

c) What is the product theorem of the probability calculus? 
সŕাব�তা িনŜপেণর ªণফল সূøিট কী? 

d) What are the five Inductive Methods according to Mill? 



িমেলর মতানুসাের পাচঁিট আেরাহী পĆিত কী কী? 
e) What is the Law of Causation? 

কাযƳকারণ নীিত বলেত কী Ʊবাঝায়? 
f) What is the probability of getting a king from a deck of cards in one draw? 

একĴƐ তাস Ʊথেক একিট তাস টানেল তাসিটর সােহব হবার সŕাবনা কত? 
g) State the canonic statement of the joint method agreement and difference. 

অīয়ী-ব�িতেরকী পĆিতর সূøিট িববৃত কেরা।  
h) What is an analogous argument?  

উপমা যুি� কােক বেল? 

1. Answer any four of the following questions: 5×4=20 
িনŏিলিখত Ʊয Ʊকান চারিট Ĵেűর উóর দাও:  

a) Explain cause as necessary and sufficient condition. 
আবিশ�ক এবং পযƳাĮ শতƳ িহসােব কারেণর ধারণািট ব�াখ�া কর।  

b) In a book fair there are five similar entrances. Four friends have come to visit the book fair. 
What is the probability of their entering the book fair by same entrance? Discuss.  
একিট বইেমলায় একই রকম পাচঁিট Ĵেবশ পথ করা হেয়েছ। Ʊমলা Ʊদখেত আসা চারজন বĥুর একই Ĵেবশ পথ িদেয় 

Ĵেবেশর সŕাব�তা কত?আেলাচনা কেরা। 
c) Explain Mill’s Method of Residues. 

িমেলর পিরেশষ পĆিত ব�াখ�া কর।  
d) What are the problems of admitting plurality of causes? 

বƝকারণবাদ Ɨীকার করার সমস�াªিল কী কী?  
e) Distinguish between scientific and unscientific explanation. 

ƲবÑািনক ব�াখ�া ও অৈবÑািনক ব�াখ�ার মেধ� পাথƳক� কর।  
f) Explain the notion of crucial experiment. 

চূড়াĜ পরী¢ার ধারণািট ব�াখ�া কর।   

2. Answer any one of the following questions:                  10×1=10 
িনŏিলিখত Ʊয Ʊকান একিট Ĵেűর উóর দাও। 

a) Explain the criteria for evaluating analogical argument. 
উপমা যুি�র মূল�ায়Ʊণর মানদëªিল ব�াখ�া কর। 

b) Explain with suitable example Mill’s formulation of the method of concomitant variation. 
িমল রিচত সহ-পিরবতƳন পĆিতিট উপযু� উদাহরণ সহেযােগ ব�াখ�া কর।  

c) Explain the criticisms that are generally made against Mill’s methods. 
িমেলর পĆিতসমূেহর িবśেĆ সাধারণতঃ Ʊয সমােলাচনাªিল করা হয় Ʊসªিল সংে¢েপ ব�াখ�া কর।  
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